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1) @25 2) wgoedae 3) 206Redafe  4) IJever
O B0erEEP Bthiberen DS §?

1) o=y 2) esap 3) Boe3a0d 4) &S
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1) 2:3 2) 1:2 3) 1.3 4) 3.4

10 S5’ o8 DmegQ it Sethyen B0. 908 KN, 08 Sy Srpw 8KE S
0B $ifen Soddy 81. 08 2ES Srpen 92 03 WS SKyS Sryen Q) ?

1) 55 2) 60 3) 62 4) 35S0

The sum of areas of two circles which touch each other externa-lly is 1537T. If the sum of

their radii is 15, find the ratio of the larger to the smaller radius?

1) 4:1 2) 2:1 3) 8:1 4) D& =5
56-1isdivisible by?

1) 13 2) 31 3)5 4) QT
If x = (163+17°+183+193), then X divided by 70 leaves a remainder of?

1) 0 2) 1 3) 69 4) 35

A man has friends: 4 boys and 5 girls. In how many ways can he invite them, if there have
to be exactly 3 girlsin the invites?

1) 320 2) 160 3) 80 4) 200

A box contains 6 red balls, 7 green balls and 5 blue balls. Each ball is of a different size.
The probability that the red ball selected is the smallest red ball is

1) /18 2) 1/3 3) 1/6 4) 2/3
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A group of 630 children are arrange rows for a group photograph. Each row contains three
fewer children than the row in front of it. What number of rows is not possible?

1) 3 2) 4 3)5 4) 6

The sum of money invested at compound interest amounts in 3 years to Rs. 2,400 and 4
yearsto Rs. 2,520. The interest rate per annum is?

1) 6% 2) 5% 3) 10% 4) 12%

Rama travels a distance of 5 km from a place A towards north, turns left and walks 3 km,
again turns right and walks 2 km. Finally she turns right and walks 3 km to reach B. What
IS the distance between A and B?

1)7 km 2)13 km 3)2 km 4)10 km

A and B play agame where each is asked to select anumber from 1 to 5. If the two numbers
match, both of them win a prize. The probability they will not win aprizein singletrial is?

1) /25 2) 24125 3) 2/25 4) None of the above
KILM : MILK : : EAKM :

1) KAME 2) MAKE 3) EMKA 4) MEKA

In a certain code EVEREST is coded as TSEREVE. Then REDFORT is coded as?

1) TROFDER 2) TOFRDER 3) TDERFRO 4) FOTRDRE

If X isthe brother of Y, and Y is the sister of Z, then which of the following statements is
correct?

1) X isthe sister of Z 2) Y isthe brother of X

3) Z is definitely the brother of X 4) X isthe brother of Z

Bride : Bridegroom : :

1) Mare: Sallion 2) Calf : Herd 3) Swan:Cygnet  4) Lion: Cub

TIME : CLOCK : :

1) Sharp : Blunt 2) Date : Calendar 3) Nip : Crush 4) None of the above
PS: DG ::

DEH: TW 2) CE: TR 3) KM : 0Q 4) FH : JL
Tomorrow is Sunday. What was yesterday?

1) Wednesday 2) Thursday 3) Friday 4) Saturday

Which of the following is the smallest?

1) 15/16 2) 16/6 3) 7/8 4) 11/12

4:5::8:

1) 8 2) 10 3) 12 4) 9

A sum of ¥ 300 is given on loan at 8% simple interest. What amount is due at the end of
two years and six months?

1) 3400 2) 3500 3) 350 4) %360
In one minute, 3/7 of abucket is filled. The rest of the bucket isfilled in?
1) 7/3 minutes 2) 21 minutes 3) 4/3 minutes 4) 2 minutes

Karan and Arjun ran a 100 m race, where Karan beats Arjun by 10m. To do a favour to
Arjun, Karan starts 10 m behind the starting time in a second 100 m race. They both ran at
their earlier speeds. Which of the following is true in connection with the second race?

1) Karan and Arjun reach the finishing line ssmultaneously

2) Arjun beats Karan by 4 m

3) Arjun beats Karan by 11m

4) Karan beatsArjun by 1 m
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1) 2933 2) 5200 3) 4215 4) 8214
DDA TOHEE S00Hd HEehd oS 38?2

1) 20 eaéf:eog 2011 2) 21 e8%08 2011

8) 22 w805 011 4) 28 ©8°%05 2011

g°ES Trezgoll DoRges H8f Tresmgolf Suvrone AP EE8 wisk?
1) &8 8.68. w088 R) 2. oraftareroed

3) orEo$RIE 4) e355eberd I

gr88B508® 888, coé RSP 2Q)Een 28R (FRLEE?

1) Single transferable vote 2) Limited suffrage

3) Proportional representation 4) Adult franchise

Sodrge S350 e 8ods (P& yeo oreo FoBEeR8 Tt HEE T BETO?
1) gréoe 5 €T 2) aeedesg ergof

3) @&m@é@% 23508 4) 2 3B AR

P8 SnROOR S BoLE)Bo?

1) 2005 2) 2006 3) 2007 4) 2008

&8 20048° QS $ET oS0 DIBY $508)0DS EME8 wisHkh?

1) @PK6 S8R HSos R) 22588 L0Bo& doh

3) (BB oSS 1) 2.%.
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1) ¥ 15,000 2) T 20,000 8) % 25,000 4) T 50,000
P88 Tresegoio SRS &8 ?

1) 26 22558 1950 2) 26 23538 1949

3) 26 $5025 1949 4) 31 &o285 1949
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1) =§8 2. Sorforasd 2) &¥6 desclBepd

3) =56 3.9. 8¢ 4) =56 . Sl
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3) SPorae wend Eoro werd 4) 28.9. &S
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'Planned Economy for India (1943) &kong ?

1) &8 Somedd 2) D0.9%. Tead ) wo. DI LA 4) GHomoeahes
PEBRH0S® Tgohd HOBER08. V0B ?

1) se85Qoey $8o $8°eER08 2) 5T $6°G)ER00d

3) oeezegoifo $8%585)ER00d 4) SegahSaren 209 wHzedH
VOER O S8 2.8 God?

1) 5559(3 ) & 3) gj"é{bé 4) cs%:o?gag
The number of demands in the general budget for civil expendituresis?

1) 109 2) 106 3) 103 4) 102

808 8700 B Sy BT S0QTeerE 0D A8 Sroeyh?

1) Qoweyrd 2) Srofb 3) o8 4) 28S
EERH0S° $°O wBTBE TISHHLD & o Doen Bod?

1) 1793 &eo 2) 1813 e 3) 1803 ¢yo 4) 1833 $&o
TP DS GEERE oS Bo&® DY Tego?

1) &g80as 2) &3yo@orrs ) D566 1) S0y
B 8B EES Mo O geRS® ooTeth ?

1) 2»0b 2) Sooob 3) 200K 4) Heoed

B8 0.98.9. BoHG)SE® ok T8 2SS ?
1) efeererdl Saeoh 2) el @d 3) orEoSRPE 4) d. coaftrarmrd
D NTSESINIeSES Lé&ﬁooé's orood ?

1) Cripps Mission I1) Quit India Movement

[11) Individual Satyagraha V) August Offer

) IV, 1T 2) IV, 1,1, 11 3) I, 1V, 1, 11 A 11, 1V, 1
2011 exrer S¥yo [H5edo ersSaY emrer?

1) 120 %5@09, 2) 121 55@3 3) 122 gse%’; 4) 123 55@3
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1) 2 IV 2) eecar XIV  3) ewecar XV 4) ey Xl
The Indus Valley Civilization type was found in?

1) Sumer 2) China 3) Egypt 4) All these
QLS Trezg Pt ?

1) H&g0E 2) & 3) DESrHSg  4) EEHRI-
2011 2rer S0 (H5e8o WoE  (HET wgTrdgee T80 ?

1) 67.66 2) 69.66 3) 70.66 4) 68.66
During the Sultanate period, the accession of a king was traditionally done by?
1) Succession 2) Nomination

3) Battle between probable candidates 4) None of these

HHIPSE (HS5Dood?

1) S8 Jses8Lgo 2) o Hde o Srdko
3) D Szeedy Hore Srdo 4) dEpo Sy DEpS

2h (BSTren Bogpone B8 $ow0fodIR?

1) eiSoshaZ Ssngo R) BEhdHen BdaHhto

3) e8%5S, HIYISS® N 4) QSTETES

o503l W00 ToES Kok Ko ?

1) 1204 2) 1178 3) 1203 4) 1170
SOPHBTS® DD degen Gy e ?

1) 8&8moen 2) depdwerd  3) Qeaddnto  4) DS
Which of the following is the only latitude that forms a great circle?

1) The Equator 2) TheArctic Circle

3) The Antarctic Circle 4) The Tropic of Cancer

DT S8 08 & wEoB?

1) Bartholomew Diaz  2) Magellan 3) Vasco da Gama 4) Columbus
oo dr{j& &e WESRE IEH?

1) 12 Kosren 2) 24 foten 3) 3 Jwew 4) 6 Iven
Precipitation &mk0 508 ?

1) Hail 2) Snowfall 3) Rainfall 4) Fog
wdgod S°BK $83n?

1) Caspian Sea 2) Lake Baikal 3) Lake Superior  4) Lake Victoria
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What type of soil istypical of tropical areas which receive heavy rainfall?

1) Black or Regur 2) Lateritic 3) Alluvid 4) None of these
Qensd) Jreds 88 AR PEr ol (@roso?

1) 8316 2) 3P 8) 8KE508HT0 4) Lo
QRS Tsoen Hrew &od SPen?

1) S8% 2) ©J=0 38) &8l 4) 28,0

orA-20mrEo-addn-Sheth Sowogo S8 @Hsedo?
1) Khetri-Kolar-Kudremukh-Jharia 2) Kolar-Kudermukh-Khetri-Jharia

3) Kudremukh-Kolar-K hetri-Jharia 4) Kolar-K hetri-Jharia-K udremukh
gl S8 IAHT) 88 HIE0 2y Sod $B5308?

1) Sun 2) Earth 3) lonosphere 4) Sun and Earth
Trans-Himalaya S&?

1) Xorw 2) oHSae 3) S8 4) oo

The first shore based integrated steel project in India %3¢ $&508 ?

1) eae38%88 2) QTN He0 3) SoorfEres 4) QEeeHEN0
IT0g08°, BIRS® (HH0X0S” @81 30&® eoKo?

1) esdafe 2) Qoo 3) 6388 oodse  4) 38 0o
IT008° gEERF0S° ©8 V) SoEIOS Frodo?

1) woskrs, 28%8 Hgaren 2) @&336

3) $o&i& 4) ogbHen
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1) 2305 8 R) 2oab9  3) dPod 10 4) =550 8
©2308° Hieen &) TPERe?

1) gopeo¥ 2) o800 3) AP 1) 85%

S TR BB &) eSERY ooo?
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81. g88L¥0S® Postal Zones (Pin Code Zones) Kosg?

HT 2) 8 3) 9 4) 10
82. SBNS aS(ergs 6 ErdS Aol 0o &) Fw?

1) d8 2) eesorers 3) Jrer™) 4) €6J°§c%§
83. Indian Contribution to Parliamentary Procedure?

1) Zero hour 2) Cut motion 3) Adjournment motion  4) Guillotine
84. 19668° Hoee, Grovgae ooEfos DB Howeel HXB TR o 3R dFE)o

geedone AHEod?

1) gr8 8RS 2) 0 BOAS  3) Lot EWRS  4) P ERS
85. 1235 HouLg ey (@rdods Sosg)Bo?

1) 2012 2) 2013 3) 2014 4) 2015
86. 288 Teewgoif (B EBRTR) R (HEBo0?

1) A Sovereign, Democratic Republic 2) A Socialist, Democratic Republic
3) A Soveregin Socialist Secular Democratic Republic 4) None of these

87. werd) 2d8S ud 308akr SEDS® AT SSIrHEH ?

1) ¢ sre0 2) B SosEyoren

8) ooE588 ado &Xod SK 4) FER00dH SSn¥o o8 SEH
88. P88 Pesr@se QPs0?

1) Democratic Planning 2) Totalitarian Planning

3) Capitalist Planning 4) Socialist Planning
89. B8BKo &Y PG’ ¥QK0 208 ToEo Prew FPodS M, S TAHKE HABY

@é TPORBEM 1005 TP ?

1) 10 2) 12 3) 15 4) 20
90. ePESRF0S° WEB¥O Sepdo DYowoBEeR8 erreso?

1) sarcs S&rmedo 2) DG SSeeeso

3) PeHH Jkemeso 4) 2enad Ssraedo
91. Deotd oo’ ER?

1) Oxalic Acid 2) Glycerol 3) Urea 4) 25
92. &3 (Algae) DEHEERE Selo I $nd8 Hrgren?

1) Insecticides 2) Heavy Metals  3) Plant Nutrients 4) Sediments



93. SETeerd® Ko HEbome RE°R0BH?

1) Hemoglobin 2) Heparin 3) Thyroxin 4) Pepsin
94. o Bey VB0 IR SOAY?

1) 300, Foredes 8 DHHEH 2) 55y 8280300 PEHHBROR

3) 3%, ALK 0SIHEE 4) 3% S8 8
95. SPSHE LarBo HiBHHE EoirhS® GoKmrds o8y SgEo?
1) Cytochrome 2) Urochrome 3) Haemochrome  4) Phenolichrome
96. B3 0B0S® wd AZ) AS0E?
1) Vomer 2) Stapes 3) Malleus 4) Incus
97. 'Blue Baby' do&*& &rRQES® 8 J5Sme oo g Seorhod ?
1) éﬁ?{)eﬁ{b 2) ?683@5{3 3) S"S‘bééﬁa 1) IEK
98. S¥8 L0208 &0 ?
1) &S 2) O& 3) Sy 4) 5°8°) 3 (@¢5
99. S LrSHRS® dbrasivere H F&?
1) s9aho «By& 2) Qa0 2R
3) sedaho J°3& 4) sedaho 5°3&
100.32065¢3 (555035 C0goS® SRR eobuione F&os?
1) =S 3rsgys R) (&S SaHI&
8) 5058 g 4) 68 gl
101. ey 5o (Acid Rain) %8 Jrowd® KON &ois?
1) 508 aieRE R) 22¢38 aed&
3) $e)0F wo& JEE D& 4) 520298 ARG
102. 330 &BBrNoD wNHYer BIH?
1) 3196?35, é@o)g, EVEOLEN 2) oeHo%0 §j§_§ o3 Rn S&H& , iy
3) && @@E{DE, TS, FTDS 4) 28 BBy, 6@95, TN
108. 2°es¥ (S (Photography)S® @ Sarass $30g¥so?
1) Db B°RE 2) dreracho JBeS
8) TEad W& 1) T EaS 388

104. S8 $6808° 08 XS &old Swre¥o?
1) ey R) (&S 3) o588 4) NS



105. H0EQ Hoth Ve oer8 5o800 28 KIS oo Su?
1) @;5& 2) @U:{Dg R 3) 36%3@0335(3 4) @3)5{3

106. Soap is a mixture of sodium or potassium salts of ?

1) Monocar boxylic acids 2) Dicarboxylic acids
3) Tricarboxylic acids 4) Glycerols

107. "mo&ogc%és $558 ) SEErS® 988 Swrwo?
1) Unknown
2) Fusion of hydrogen nuclei into helium nucleus
3) Fission of bigger nuclei into smaller ones
4) Stored energy in the atmosphere
108. eﬁ&ég&ﬁg;e (Acid raing)¥ se8ee0 ?
1) %8 (a8 S rEeSseso 2) @Y SPeukgo
3) i &H0SEw0S” T Sreyeo  4) S
109. %8> BON &odd?

1) &% 2) &) 3) oHedase 4) 2358
110. S°&16eHS° Lot dhen wB¥OM™ Gotron. ROB° 33 D Sotan?

1) DerdoS @ 2) Qe &) 3) a0 4) 258
111. Ozone layer protects life on Earth by?

1) Inhibiting the entry of germs 2) Cooling the atmosphere

3) Absorbing the high energy ultraviolet radiation of the Sun
4) All of the above

112. LS8 080S° es8yasS ($55ee 3&8 aegoe 3thrhdod ?

1) Blood 2) Lungs 3) Tissues 4) All of the above
118. oSS HHS® "Fixerme & SJrohSo?

1) Sodium Sulphate 2) Sodium thiosulphate

3) Ammonium persulphate 4) Borax
114. 0BrES 8O &&) 586°%3%5:?

1) Thyroxine 2) Testosterone 3) Insulin 4) Adrenaline
115. 38y Sr8ADR i JOEERR Bhitaran?

1) Cohesive force 2) Adhesive force 3) Centripetal force 4) Centrifugal force
116. 08 ¢ 2rsrdSaren (glaciers)?

1) Mountain Glaciers 2) Alpine Glaciers

3) Continental Glaciers 4) Piedmont Glaciers



117. $H0508® wormrord) wdsdsone &éd d d¥o?
1) @es 2) 3w 3) S8 Dz 4) Af0.d0..
(5580 D° 200¢8e3 @;50@5 &od)

118. &% oKsH) I8S® Yo ?

1) Astronomical Units 2) Solar terms
3) Length of the hours 4) None of the above
119. 50808, &8‘523053, #&éé@g & €8y &a@émémmee& QTP W& ?
1) Indian Qil Corporation Ltd 2) Hindustan Petroleum Corporation Ltd

3) Bharat Petroleum Corporation Ltd.
4) Crude Distillation unit of Madras Refineries Ltd
120. 308A5rS® 08 A o K STeyon?

1) Dharwar region, Karnataka 2) Aravalli range, Rajasthan
3) Vindhyan range, Madhya Pradesh 4) Siwalik range, Punjab
121.200% dS0s PE8E; emrdone D208 ?
1) 380 2) eeend 3) $&°E p &Hifs 4) ACTRES &ifE
122. 85 2& Qots B Lo B0 Loees?
1) &&0088 2) 28N 3) &S 4) AATBS SoifE
123. Tarafdar :5&5?
1) B35 w&s0 R) 28 8m0id
3) a3 ad Tregos® Kodiael 4) B o8
124. g8ER40S° Both ToEpo S5 Sore (42) &5 Tarew dTyon 0 D?
1) 59y Borres, Kas5eoe( 2) 8555, ooas S
8) e, Saefgess 4) so$HaST, HHS Sorrs
125. orasgldeS® oA &l Jpeen?
1) 22 2) 16 3) 11 4) 18
126. 858 &ges00 DS el s ?
1) 20t &° @850 WoAOG 2) $oHDST), SEBETGY) Er)SreR0
3) aedaeio PBA0S 1) S8 ¥z, S0 2dMow
127. Soro&8 SRR oagfo Swgg POB0?
1) Sarg wees Hido 2) 638ea08® 3es8 wd Ao

3) BorrSS® AEBNRL) $oed HEme8 wssedo 4) 239 =2



128."I came alone and | am going alone" &) IS eeraes ?

1) 5 2) eed 3) BorfEewn 1) 2a55eSbap 22db
129."The Congressisin reality acivil war without arms” - ©Q @36 ?

1) Qo.0.83%) 2) o°8 EES

3) o°b cé?pQ&S 4) %86 éoﬁ:gc% eao“soaﬁoéﬁ VLN
180. S0 $3)88 K£025060DS DRSKH0?

1) 00 Diceen 2) orasdah Qofen

3) Sego QRS 4) ooesgares

181."Keeping the Faith" ¥ Sons?
1) F5oed ::Séaé 2) 55356&@5 208 3) (Heacd aﬁoaaaé 4) 92S orao
182. ($50508° Bo&® w8y ¥ 3558 &) ¥o?

1) I 2) .02, 3) @S 4) &S
133. 2208022 (h&8 A&y Q) eiitoen?
1) 2700 2) 3000 3) 2900 4) 3700
134. 2011 (£3¢§ (HHos 8y F8ES® Man of the Series?
1) $0& Bokrend 2) D0.00.8%8%  3) e%.&@‘;c% 4) o$nSoreE doh
135.As per the Google web traffic data, 35% of Internet users are using which social network?
1) Orkut 2) Facebook 3) Netlog 4) Google
186. g88890S° 88se eod® voiod8So (Corruption) $388ore JboedS $38°?
1) 8865 3& 2) oae) &eed  3) eer Trotde 4) $FS ok
187.8850 “TrerrIrs Jo8)” ward) ol $5§?
1) 0832 R¥ET™) 2) oze Honayb
3) &. oeSmmrafnd 1) PS> BB T

(2010 ‘wrardrird J08), W) (e B.eroiodst)
1888365 (K035 85 B0 08308 o) QEsrodS B¥o?

1) 2080w 2) e(Rdafr 3) nolfo& 4) oo
139. 2011 &Rk &8 Soree JoNG) SR FES® ROV {7

1) 207> DOaH) 2) 830 8esdby

3) Si6ate KE 1) 555 29055
140. er88LE Sty 50 (@808’ &) D T oo ?

1) 520 R) 80s°S 3) QEeadeno 4) NS
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141. NATOS® &egfgimre Hog?
1) 18 2) 22

3) 28 4) 30

142. grer S (K$5e80 rEE0S® Heve HSowg?

1) Sieob 2) 9&i0E0s

3) ootiry B

4) SolosTod

143. 2.8 $0858)80S° deathg ergof 6D BoRAKr AR FE JEe SredTrw AYEP08 ?

1) 4 2)6
144. RTI 802 HES° &80k ?

3) 8 4) 12

) Department of Personnel and Training RTI $5¢pQ8 S3&eaen 3@0&
8) ER00es RTI 5608 $58eoen D00
) RTI &0 80e§ Hoegedd Bad &eR8 Srerwd HODS Gob

3) & 4)

145. ePEER0S° & Togo HIE VTgered8 (BHois ergos 200 WOHS o & alwers

1,3 2) 8, d
©ofisedo 8808 ?
1) 2,03y 2) 8585

146." Stop War Star Tennis" égz?aoﬁ)o&?

1) BBBS BSSHS, 08

3) ABHDBD, oA
147. ©8%) S0 & 88 el sod?

1) A*%8 2) 38E
148.°52005°" b0 & ToRoS® eIt ?

1) eod>yo 2) eegol
149.5°0°%r0 ws0idd Soren &) ooE@o?
1) oeadd 2) SoTeR

150. S.H.Kapadiais the?
1) Chief Justice of India
3) Chief Conservator of Forests of India

3) eso($DAT 4) Hzoes

2) &5°58), 88
4) 58S 9982, T8

3) forw 4) JEHe
3) HsgBs  4) (BHY
3) 8% 4) SQ¥EIE

2) Chief Election Commissioner of India

4) Attornery Genera of India



